The prices and production of grains for 2002 and 2012 (http://www.ers.usda.gov) are listed below.
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2002 Pr (milions of 2012 Price
Grain  PerBushel bushels) Per Bushel
oats 181 116 538
Wheat 356 2 79
Com 232 8967 69
Barley 272 27 64





.:.

Using 2002 as the base period, find the value index of grains produced for August 2012.

SOLUTION:
The value index is the latest value of fundamental assets which is further used to calculate current index of payments with adjustable mortgage rate. The most common value price index which is widely used all over the world is LIBOR. These price indexes are updated on weekly or monthly basis. In addition to that, the index is relatively used to measure the changes in the price and also provide the average price among two different periods. This index first developed to measure the changes among cost of living which helps to analyze the increase in wages so that standard of living should be maintained. 
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